
© 2025 General Motors

Make: Chevrolet Year: 2024 Model: Colorado

C - Chevrolet>2024>4 - 14B - Colorado>12 - BODY MOLDINGS-CAB SHEET METAL-PICKUP BOX-ROOF HARDWARE>(U412-001)   2023-2025   4E,
4H   MOLDINGS/BODY-WHEEL OPENING

Single Use Part



© 2025 General Motors

Make: Chevrolet Year: 2024 Model: Colorado

C - Chevrolet>2024>4 - 14B - Colorado>12 - BODY MOLDINGS-CAB SHEET METAL-PICKUP BOX-ROOF HARDWARE>(U412-001)   2023-2025   4E,4H   MOLDINGS/BODY-WHEEL OPENING

Call Part # Group H Description Usage Year Qty

1 85582998 12.116 L MOLDING, RR WHL OPG (INCLS 2,5,6) 4G (43) (B96) 2023 - 2025 01

1 85582998 12.116 L MOLDING, RR WHL OPG (INCLS 2,5,6) 4P (43) (B96) 2023 - 2025 01

1 85582999 12.116 R MOLDING, RR WHL OPG (INCLS 2,5,6) 4G (43) (B96) 2023 - 2025 01

1 85582999 12.116 R MOLDING, RR WHL OPG (INCLS 2,5,6) 4P (43) (B96) 2023 - 2025 01

1 85583001 12.116 R MOLDING, RR WHL OPG (INCLS 2,5,6) 4E,4H (43) (EXC ULV) 2024 - 2025 01

1 85583000 12.116 L MOLDING, RR WHL OPG (INCLS 2,5,6) 4E,4H (43) (EXC ULV) 2024 - 2025 01

1 85567709 12.116 R MOLDING, RR WHL OPG (INCLS 2,5,6) 4H (43) (DNS,ULV,WEN) 2024 - 2025 01

1 85567708 12.116 L MOLDING, RR WHL OPG (INCLS 2,5,6) 4H (43) (DNS,ULV,WEN) 2024 - 2025 01

2 86779330 08.133 RETAINER, FRT WHL OPG MLDG (PART OF 1) 4E,4H,4G (43) 2023 - 2024 AR

2 86779330 08.133 RETAINER, FRT WHL OPG MLDG (PART OF 1) 4P (43) 2023 - 2025 AR

3 84777549 12.940 R PROTECTOR, RR PUBX PAINT (INCLS 4) (ACDelco #84777549) 4C,4F,4G (43) 2023 - 2024 01

3 84777549 12.940 R PROTECTOR, RR PUBX PAINT (INCLS 4) (ACDelco #84777549) 4M,4P (43) 2023 - 2024 01

3 84777548 12.940 L PROTECTOR, RR PUBX PAINT (INCLS 4) (RR ST PRT RR LH) (15.
506) (ACDelco #84777548) 4C,4F,4G (43) 2023 - 2024 01

3 84777548 12.940 L PROTECTOR, RR PUBX PAINT (INCLS 4) (RR ST PRT RR LH) (15.
506) (ACDelco #84777548) 4M,4P (43) 2023 - 2024 01

3 85611373 12.940 R PROTECTOR, RR PUBX PAINT (INCLS 4) (RR ST PRT BOX RH) 
(ACDelco #85611373) 4 (43) 2023 - 2024 01

3 85611372 12.940 L PROTECTOR, RR PUBX PAINT (INCLS 4) (RR ST PRT BOX LH) 
(ACDelco #85611372) 4 (43) 2023 - 2024 01

4 11571218 12.940 RETAINER, RR PUBX PAINT PROTR (PART OF 3) (12.0X12.7X15.
5) (17.507) 4H (43) 2023 - 2024 02



Call Part # Group H Description Usage Year Qty

4 11571218 12.940 RETAINER, RR PUBX PAINT PROTR (PART OF 3) (12.0X12.7X15.
5) (17.507) 4M,4P (43) 2023 - 2024 02

4 11571218 12.940 RETAINER, RR PUBX PAINT PROTR (PART OF 3) (12.0X12.7X15.
5) (17.507) 4C,4E,4F,4G (43) 2023 - 2024 02

5 86779331 08.133 RETAINER, FRT WHL OPG MLDG (PART OF 1) 4E,4H,4G (43) 2023 - 2024 AR

5 86779331 08.133 RETAINER, FRT WHL OPG MLDG (PART OF 1) 4P (43) 2023 - 2024 AR

6 11547581 12.118 RETAINER, RR WHL OPG MLDG (PART OF 1) (FITS 9MM HOLE) 
( ROUND SEAL.) (8.309) 4 (43) 2023 - 2024 AR

7 11546805 12.118 RETAINER, RR WHL OPG MLDG (PUSH-IN W-BASE, 
W/DIAMETER 20.0MM HD X 17.80MM LONG) (17.507) 4 (43) 2023 - 2025 02

8 11548270 12.118 BOLT, RR WHL OPG RR MLDG (M4.2X1.41X20) (PAN 
W/WASHER) (20 OD) (12.944) 4P (43) 2023 - 2025 10

8 11548270 12.118 BOLT, RR WHL OPG RR MLDG (M4.2X1.41X20) (PAN 
W/WASHER) (20 OD) (12.944) 4E,4G,4H (43) 2023 - 2025 10

9 11546805 08.133 RETAINER, FRT WHL OPG MLDG (PART OF 11) (PUSH-IN W-
BASE, W/DIAMETER 20.0MM HD X 17.80MM LONG) (17.507) 4E,4G,4H (43) 2023 - 2025 AR

9 11546805 08.133 RETAINER, FRT WHL OPG MLDG (PART OF 11) (PUSH-IN W-
BASE, W/DIAMETER 20.0MM HD X 17.80MM LONG) (17.507) 4P (43) 2023 - 2025 AR

10 11548270 08.133 BOLT, FRT WHL OPG MLDG (M4.2X1.41X20) (PAN W/WASHER) 
(20 OD) (12.944) 4E,4G,4H (43) 2023 - 2025 04

10 11548270 08.133 BOLT, FRT WHL OPG MLDG (M4.2X1.41X20) (PAN W/WASHER) 
(20 OD) (12.944) 4P (43) 2023 - 2025 04

11 86820602 08.132 L MOLDING, FRT WHL OPG (INCLS 9,12-14) 4P (43) (B96) 2023 - 2024 01

11 86820602 08.132 L MOLDING, FRT WHL OPG (INCLS 9,12-14) 4G (43) (B96) 2023 - 2024 01

11 86820603 08.132 R MOLDING, FRT WHL OPG (INCLS 9,12-14) 4P (43) (B96) 2023 - 2024 01

11 86820603 08.132 R MOLDING, FRT WHL OPG (INCLS 9,12-14) 4G (43) (B96) 2023 - 2024 01

11 86820604 08.132 L MOLDING, FRT WHL OPG (INCLS 9,12-14) (C TB/ZR2 FRT LH 
ASM) 4E,4H (43) (EXC ULV) 2023 - 2025 01



Call Part # Group H Description Usage Year Qty

11 86820605 08.132 R MOLDING, FRT WHL OPG (INCLS 9,12-14) (C TB/ZR2 FRT RH 
ASM) 4E,4H (43) (EXC ULV) 2023 - 2025 01

11 85567707 08.132 R MOLDING, FRT WHL OPG (INCLS 9,12-14) 4H (43) (DNS,ULV,WEN) 2024 - 2024 01

11 85567706 08.132 L MOLDING, FRT WHL OPG (INCLS 9,12-14) 4H (43) (DNS,ULV,WEN) 2024 - 2024 01

12 86779330 08.133 RETAINER, FRT WHL OPG MLDG (PART OF 11) 4E,4H,4G (43) 2023 - 2024 AR

12 86779330 08.133 RETAINER, FRT WHL OPG MLDG (PART OF 11) 4P (43) 2023 - 2025 AR

13 86779331 08.133 RETAINER, FRT WHL OPG MLDG (PART OF 11) 4E,4H,4G (43) 2023 - 2024 AR

13 86779331 08.133 RETAINER, FRT WHL OPG MLDG (PART OF 11) 4P (43) 2023 - 2024 AR

14 86779332 08.133 RETAINER, FRT WHL OPG MLDG (PART OF 11) (FITS 9MM 
HOLE) (RETAINER) (W/BASE) (DOUBLE-RECTANGLE HEAD) 4E,4G,4H (43) 2023 - 2024 AR

14 86779332 08.133 RETAINER, FRT WHL OPG MLDG (PART OF 11) (FITS 9MM 
HOLE) (RETAINER) (W/BASE) (DOUBLE-RECTANGLE HEAD) 4P (43) 2023 - 2025 AR


